

Ordinary differential equations "ODE"

Ordinary D.E is an equation of one independent variable ~~and~~ one ~~independent~~ variable, with it's derivative to order of derivatives (integer).

ex's

$$\frac{dy}{dx} + 2y = 0 \quad 1^{\text{st}} \text{ order}$$

$$y'' - y = e^x \quad 2^{\text{nd}} \text{ order}$$

$$y''' - 3y'' + y = \sin x \quad 3^{\text{rd}} \text{ order}$$

Methods of solve first order ODE

1. separable of variable
2. reducible to separable of variable (Homogeneous)
3. Non-Homo. + (special case)
4. Exact D.equation and Non exact (Integral factor)
5. Linear ODE
6. Non-Linear ODE (Bernoulli ODE)

Methods of solving higher order ODE

There are several methods for example

- 1- undetermined coefficients
- 2- Variation of parameters
- 3- D- operators

in our course we will use "undetermined coefficients" and some other techniques such that Laplace Trans. and power series, that will be explained later.

and in next lectures

Now, we will explain the sixth method and undetermined coefficients and Laplace Transformation

1 separable of variable

$$y' = \frac{f(x)}{g(y)}$$

$$\frac{dy}{dx} = \frac{f(x)}{g(y)} \Rightarrow g(y) dy = f(x) dx$$

Integral Both side \Rightarrow $\xrightarrow{\text{I.B.S}}$ $\int g(y) dy = \int f(x) dx$

$$y = h(x, y) \text{ or } h(x)$$

ex1

$$y' - y = 0$$

$$\frac{dy}{dx} = y$$

$$\frac{dy}{y} = dx$$

I.B.S

$$\ln y = x + C$$

$$y = e^x \cdot e^C \Rightarrow y = K e^x$$

ex2 solve $y - x \frac{dy}{dx} = a \left(y^2 + \frac{dy}{dx} \right)$

$$y(1 - ay) = \frac{dy}{dx} (a + x)$$

$$\frac{y(1 - ay)}{dy} = \frac{a + x}{dx}$$

$$\frac{dy}{y(1 - ay)} = \frac{dx}{a + x}$$

$$\frac{1}{y} = a - (a + x) \cdot K$$

$$y = \frac{1}{a - (a + x) \cdot K}$$

$$\left(\frac{a}{ay - 1} - \frac{1}{y} \right) dy = \frac{dx}{a + x} \quad \text{I.B.S}$$

$$\ln(ay - 1) - \ln y = \ln(a + x) + C$$

$$\ln \frac{ay - 1}{y} = \ln(a + x) + C$$

$$a - \frac{1}{y} = (a + x) \cdot K$$

(2) Reducible to separable of var.

Homogeneous eq.

$$\frac{dy}{dx} = f\left(\frac{y}{x}\right) \quad \text{or} \quad \frac{dy}{dx} = f\left(\frac{x}{y}\right)$$

to solve this type let $v = \frac{y}{x} \Rightarrow y = xv$

$$\Rightarrow \frac{dy}{dx} = \frac{dx}{dx} \cdot v + x \frac{dv}{dx}$$

$$\Rightarrow y' = v + x v'$$

$$\Rightarrow f(v) = v + x \frac{dv}{dx}$$

$$\Rightarrow f(v) - v = x \frac{dv}{dx}$$

$$\Rightarrow \frac{dv}{f(v) - v} = \frac{dx}{x} \quad \text{I.B.S.}$$

$$N = h(x) \quad \text{or} \quad h(x, v)$$

$$\frac{y}{x} = h(x) \quad \text{or} \quad h\left(x, \frac{y}{x}\right)$$

$$y = x h(x) \quad \text{or} \quad x h\left(x, \frac{y}{x}\right)$$

ex1 solve $(x^2 + y^2) dx = 2xy dy$

Sol.



$$\frac{x^2 + y^2}{2xy} = \frac{dy}{dx} \quad * \quad \frac{1}{x^2}$$

$$\Rightarrow \frac{1 + \frac{y^2}{x^2}}{2 \frac{y}{x}} = \frac{dy}{dx} \quad \text{let } v = \frac{y}{x} \Rightarrow \frac{dy}{dx} = v + \frac{dv}{dx}$$

$$\frac{1+v^2}{2v} = \left(v + \frac{dv}{dx} \right)$$

$$\Rightarrow \frac{dv}{\frac{1+v^2}{2v}} = \frac{dx}{x}$$

$$\frac{2v \, dv}{1-v^2} = \frac{dx}{x} \quad \text{I.B.S}$$

$$\ln(1-v^2) = \ln(x) + C$$

$$\ln(1-v^2)^{-1} = \ln(x) + C$$

$$\frac{1}{1-v^2} = R \cdot x$$

$$x(1-v^2) = \frac{1}{R} = K_1$$

$$x\left(1 - \frac{y^2}{x^2}\right) = K_1$$

$$y^2 = x^2 - xK_1$$

$$y = \sqrt{x^2 - xK_1}$$

H.w solve $x \frac{dy}{dx} = y (\ln y - \ln x + 1)$

(3) Non Homog. equations

$$\frac{dy}{dx} = \frac{a_1 x + b_1 y + C_1}{a_2 x + b_2 y + C_2}$$

(I) let $\left. \begin{array}{l} x = x_1 + h \\ y = y_1 + K \end{array} \right\} \Rightarrow \frac{dy}{dx} = \frac{dy_1}{dx_1} + 0, \quad \frac{dx_1}{dy_1} = \frac{dx}{dy}$

(II) let the constants = 0 $\Rightarrow \begin{array}{l} a_1 h + b_1 h + C_1 = 0 \\ a_2 K + b_2 K + C_2 = 0 \end{array}$

(III) Find h & K ; This transfer eq. to homog.

(IV) solve by the previous method.

ex 1 solve $\frac{dy}{dx} = \frac{y-x+1}{y+x+5}$

let $\begin{array}{l} x = x_1 + h \\ y = y_1 + K \end{array}$

$$\frac{dy_1}{dx_1} = \frac{y_1 + K - x_1 - h + 1}{y_1 + K + x_1 + h + 5}$$

$$\left. \begin{array}{l} K - h + 1 = 0 \\ K + h + 5 = 0 \end{array} \right\} \rightarrow \begin{array}{l} h = -2 \\ K = -3 \end{array}$$

$$\Rightarrow \frac{dy_1}{dx_1} = \frac{x_1 - x_1}{y_1 + x_1} = \frac{\frac{y_1}{x_1} - 1}{\frac{y_1}{x_1} + 1}$$

let $V = \frac{y_1}{x_1}$

$$V + x_1 \frac{dV}{dx_1} = \frac{V - 1}{V + 1}$$

$$\frac{dV}{\frac{V-1}{V+1} - V} = \frac{dx_1}{x_1}$$

$$-\frac{V+1}{1+V^2} dV = \frac{dx_1}{x_1}$$

$$\left(\frac{-V}{1+V^2} - \frac{1}{1+V^2} \right) dV = \frac{dx_1}{x_1}$$

$$-\ln(1+V^2) - \tan^{-1} V = \ln x_1 + C$$

H.w.

Special case

$$\text{if } \frac{a_1}{a_2} = \frac{b_1}{b_2} = \frac{1}{\alpha}$$

$$\rightarrow a_2 = \alpha a_1 \Rightarrow V = \alpha (a_1 x + b_1 y)$$

$$b_2 = \alpha b_1$$

$$\alpha \neq 0$$

$$\frac{dv}{dx} = \alpha a_1 + b_1 \frac{dy}{dx}$$

ex

$$\frac{dy}{dx} = \frac{3y+2x+4}{6y+4x+5} = \frac{3y+2x+4}{2(3y+2x)+5}$$

$$\text{let } V = 3y+2x \Rightarrow \frac{dV}{dx} = \frac{3dy}{dx} + 2$$

$$\frac{1}{3} \frac{dV}{dx} - \frac{2}{3} = \frac{V+4}{2V+5}$$

$$\frac{dV}{dx} = \frac{21V+66}{6V+15}$$

$$\frac{6V+15}{21V+66} dV = dx$$

$$\frac{6}{21} + \frac{15 - \frac{132}{7}}{21V+66} dV = dx$$

$$\frac{2}{7} + \frac{-\frac{27}{7}}{21V+66} dV = dx \quad \text{I.B.S.}$$

$$\frac{2}{7} V - \frac{9}{7} \cdot \frac{1}{7} \ln(21V+66) = x + C$$

to be continued

$$\frac{6}{21} + \frac{15 - \frac{132}{7}}{21V+66}$$

$$6V+15$$

$$6V + \frac{132}{7}$$

$$(15 - \frac{132}{7})$$

$$(15 - \frac{132}{7})$$

$$00$$

H.w. solve

$$(y-x+5)dy =$$

$$= (y-x+1)dx$$

$$3x-2y+1 dy = 6x-4y+3 dx$$

④ Exact Method

General Form

$$M(x, y) dx + N(x, y) dy = 0$$

it called exact if

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

ex1

$$y dx + x dy = 0 \quad (*) \Rightarrow \begin{aligned} M &= y \Rightarrow \frac{\partial M}{\partial y} = 1 \\ N &= x \Rightarrow \frac{\partial N}{\partial x} = 1 \end{aligned}$$

$\therefore (*)$ is exact.

H.W. (c)

$$(x^4 - 2xy^2 + y^4) dx - (2x^2y - 4xy^3 + \sin y) dy = 0$$

Show it is exact. ? (-----)

$$\frac{\partial M}{\partial y} = -4xy + 4y^3 = \frac{\partial N}{\partial x}$$

To sol. Exact eq

(I) let $u = \int m dx + g(y)$ or

$$u = \int n dy + h(x)$$

(1)

constant of integration

(II) Find $g(y)$ or $h(x)$ by using

$$\frac{\partial u}{\partial y} = n \quad \text{or} \quad \frac{\partial u}{\partial x} = m$$

المطلوب

(2)

(III) substitut (2) in (1)

u is The required solution...

ex. solve $y dx + x dy = 0$ by ex. it is

$$\frac{\partial m}{\partial y} = 1 = \frac{\partial n}{\partial x} \Rightarrow \text{it is exact}$$

method (1)

$$u = \int y dx + g(y)$$

$$u = yx + g(y) \quad (1)$$

$$\frac{\partial u}{\partial y} = n \Rightarrow x + g' = x$$

$$\Rightarrow g' = 0 \Rightarrow g = C \quad (2)$$

constant

$$\therefore u = yx + C$$

method (2)

$$u = \int x dy + h(x)$$

$$u = xy + h(x) \quad (1)$$

$$\frac{\partial u}{\partial x} = m \Rightarrow y + h' = 0$$

$$\Rightarrow h' = 0$$

$$\Rightarrow h = C \quad (2)$$

$$\therefore u = xy + C$$

ex solve

$$y^2 e^{xy^2} + 4x^3 dx + (2xy e^{xy^2} - 3y^2) dy = 0$$

$$\frac{\partial M}{\partial y} = 2y e^{xy^2} + y^2 e^{xy^2} \cdot 2xy$$

$$\frac{\partial N}{\partial x} = 2y \cdot e^{xy^2} + e^{xy^2} y^2 \cdot 2xy$$

\Rightarrow it is exact.

$$\text{let } u = \int y^2 e^{xy^2} + 4x^3 dx + g(y)$$

$$u = e^{xy^2} + x^4 + g(y) \quad \text{--- (1)}$$

$$\frac{\partial u}{\partial y} = N \Rightarrow 2yx e^{xy^2} + g' = 2xy e^{xy^2} - 3y^2$$

$$\Rightarrow g' = -3y^2$$

$$\Rightarrow g = -\frac{3}{3} y^3 + C = -y^3 + C \quad \text{--- (2)}$$

$$\therefore u = e^{xy^2} + x^4 - y^3 + C$$

H.w. solve ex 2 page (66)

Non-Exact eq.

69

$$\text{If } \frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x}$$

it is not exact eq.; but we can make it exact

by multiplying it by Integral Factor (I.F.)

There are four (methods) for finding (I.F.) rules

rule 1

$$\text{I.F.} = \frac{1}{x^m + y^n}$$

ex solve $(x^2y - 2xy^2)dx + (-x^3 + 3x^2y)dy = 0$

$$\left. \begin{array}{l} \frac{\partial M}{\partial y} = x^2 - 4xy \\ \frac{\partial N}{\partial x} = -3x^2 + 6xy \end{array} \right\} \rightarrow \text{not exact}$$

$$\text{I.F.} = \frac{1}{x^m + y^n} = \frac{1}{x^3y - 2x^2y^2 - x^3y + 3x^2y^2}$$

$$\text{I.F.} \cdot M dx + \text{I.F.} \cdot N dy = 0 \quad = \frac{1}{x^2y^2}$$

$$M_1 dx + N_1 dy = 0$$

$$\left(\frac{1}{y} - \frac{2}{x}\right)dx + \left(-\frac{x}{y^2} + \frac{3}{y}\right)dy = 0$$

$$\frac{\partial M_1}{\partial y} = -\frac{1}{y^2}$$

$$\frac{\partial N_1}{\partial x} = -\frac{1}{y^2}$$

\therefore it is exact

complete The sol. H.W.

Rule 2 $I.F. = \frac{1}{x^m - y^n}$

ex1

sol. $y(xy + 2x^2y^2)dx + x(xy - x^2y^2)dy = 0$

(*)

check That:

(a) (*) it is not exact H.w.

(b) Find I.F. by Rule 2 H.w.

(c) Find M_1 & N_1 H.w.

(d) Show $M_1 dx + N_1 dy = 0$ } H.w.
is exact

(e) solve The equation in (d)

Rule 3

$$I.F. = e^{\int f(x) dx}$$

when $\frac{1}{N} \left[\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} \right] = f(x)$ function of x alone

ex1

$$(x^2 + y^2 + x) dx + (xy) dy = 0 \quad (*)$$

by using The procedure in ex1 in page 70

(a) $\frac{\partial M}{\partial y} = 2y$, $\frac{\partial N}{\partial x} = y \Rightarrow (*)$ not exact

(b) $I.F. = e^{\int f(x) dx}$

$$f(x) = \frac{1}{xy} \cdot [2y - y] = \frac{1}{x}$$

$$I.F. = e^{\int \frac{1}{x}} = e^{\ln x} = x$$

(c) $M_1 = x^3 + xy^2 + x^2$
 $N_1 = x^2y$

(d) $\frac{\partial M_1}{\partial y} = 2yx$, $\frac{\partial N_1}{\partial x} = 2xy \Rightarrow$ it exact eq.

(e) solve $M_1 dx + N_1 dy = 0$ H.W.

$$\left\{ u = \frac{x^4}{4} + \frac{x^2 y^2}{2} + \frac{x^3}{3} + C \right\}$$

Rule (4)

$$\int g(y) dy$$

$$I.F. = e$$

when $\frac{1}{M} \left[\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right] = g(y)$ Function of y alone

ex1 solve

$$(2xy^4e^y + 2xy^3 + y) dx + (x^2y^4e^y - x^2y^2 - 3x) dy = 0$$

do The same of previous example ----

$$U = x^2 e^y + \frac{x^2}{y} + \frac{x}{y^3} + C$$

H.W.

(5) Linear ODE

General Form

$$y' + p(x)y = q(x) \quad (*)$$

to solve this eq.

multiply by $e^{\int p(x) dx}$

$$y' e^{\int p(x) dx} + p(x)y e^{\int p(x) dx} = q(x) e^{\int p(x) dx}$$

$$\left[y e^{\int p(x) dx} \right]' = q(x) e^{\int p(x) dx} \quad \text{I.B.S.}$$

$$y e^{\int p(x) dx} = \left[\int q(x) e^{\int p(x) dx} \right] + C$$

$$\text{or} \quad y = e^{-\int p(x) dx} \left[\left(\int q(x) e^{\int p(x) dx} \right) + C \right]$$

ex1

$$y' + yx^2 = x^2$$

$$\Rightarrow p(x) = x^2 \quad q(x) = x^2$$

$$y \cdot e^{\int x^2} = \left[\int x^2 e^{\int x^2} + c \right]$$

$$y \cdot e^{\frac{x^3}{3}} = \left[\int x^2 e^{\frac{1}{3}x^3} dx \right] + c$$

$$y \cdot e^{\frac{x^3}{3}} = e^{\frac{x^3}{3}} + c$$

$$y = e^{\frac{-x^3}{3}} \cdot e^{\frac{x^3}{3}} + c \cdot e^{\frac{-x^3}{3}}$$

$$y = 1 + c \cdot e^{\frac{-x^3}{3}}$$

ex2

$$x \ln x \quad y' + y = 2 \ln x \quad \div x \ln x$$

$$y' + \frac{1}{x \ln x} y = \frac{2}{x} \Rightarrow p = \frac{1}{x \ln x}, \quad q = \frac{2}{x}$$

$$y = e^{-\int \frac{1}{x \ln x} dx} \left[\left(\int \frac{2}{x} \cdot e^{\int \frac{1}{x \ln x} dx} dx \right) + c \right]$$

$$= e^{-\ln(\ln x)} \left[\left(\int \frac{2}{x} e^{\ln(\ln x)} dx \right) + c \right]$$

$$= \frac{1}{\ln x} \left[\left((\ln x)^2 \right) + c \right] = \frac{2}{\ln x} + \ln x$$

Linear (6) Non-~~Linear~~ Equation

76

Bernoulli's equation

There's no fixed rule to solve this type of eq., for example

$$\sin x \cdot y' = \cos x (2 \cos y - \sin^2 x)$$

$$\sin x \cdot y' = 2 \cos x \cos y - \cos x \sin^2 x$$

$$-z' = 2 \cos x z - \cos x \sin^2 x \quad \left\{ \begin{array}{l} \text{let } z = \cos y \\ z' = -\sin y \cdot y' \end{array} \right.$$

$$z' + z \cdot 2 \cos x = \cos x \sin^2 x$$

it becomes linear

$$z = e^{-2 \int \cos x} \left[\int \cos x \sin^2 x e^{2 \int \cos x} + C \right]$$

$$z = e^{-2 \sin x} \left[\int \cos x \sin^2 x e^{2 \sin x} + C \right] \quad u = \sin x$$

$$z = e^{-2u} \left[\int u^2 e^{2u} du + C \right]$$

$$z = e^{-2u} \left[\left(\frac{u^2}{2} - \frac{2u}{4} + \frac{2}{8} \right) e^{2u} + C \right]$$

$$z = \frac{u^2}{2} - \frac{u}{2} + \frac{1}{4} + C e^{-2u}$$

$$\begin{array}{r} u^2 e^{2u} \\ 2u \cdot \frac{1}{2} e^{2u} \\ 2 \cdot \frac{1}{4} e^{2u} \\ 0 + \frac{1}{8} e^{2u} \end{array}$$

$$\cos y = \frac{\sin^2 x}{2} - \frac{\sin x}{2} + \frac{1}{4} + C e^{-2 \sin x}$$

ex2 solv

$$y' + yx = y^3 e^{-x/2}$$

$$y^3 y' + y^2 x = 1$$

$$\text{let } z = y^{-2}$$

$$z' = -2y^{-3} y'$$

$$z' + zx = 1$$

$$z = e^{-\int x} \left[\left(\int 1 \cdot e^{x/2} dx \right) + c \right]$$

$$= e^{-x/2} \left[\left(\int e^{x/2} \cdot e^{x/2} dx \right) + c \right]$$

$$= e^{-x/2} \left[(x + c) \right]$$

$$= x e^{-x/2} + c e^{-x/2}$$

H.w.

$$(1) y' + 2yx - e^{-x^2} y^3 x = 0$$

$$(2) (x^2 y^3 + xy) dy = dx$$

Method to solve higher order D.E.

Undetermined coefficient method

General form of Linear D.E. of higher order with constant coefficient

$$a_n y^{(n)} + a_{n-1} y^{(n-1)} + \dots + a_2 y'' + a_1 y' + a_0 y = f(x) \quad (2)$$

if $f(x) \neq 0$ (1) is called non-homogeneous L.D.E.

if $f(x) = 0$

$$a_n y^{(n)} + a_{n-1} y^{(n-1)} + \dots + a_2 y'' + a_1 y' + a_0 y = 0 \quad (2)$$

is Homogeneous Linear D.E.

eq (2) has " n " solutions and its sum is

called complementary solution " $y_{c.f}$ "
(Function)

eq (1) has an particular solution " $y_{p.f}$ "

The General sol. of (1) "G.S"

$$G.S = y_{c.f} + y_{p.f}$$

How To Find $y_{c.f}$ for (2)

79

I) make the coefficient of highest derivative "one"

II) write Auxiliary eq. by Transfer $y = 1$
(A.E.) - (3)

$$y' = m$$

$$y'' = m^2$$

$$y^{(n)} = m^n$$

so, eq. (2) will be

$$a_n m^n + a_{n-1} m^{n-1} + \dots + a_2 m^2 + a_1 m + a_0 = 0 \quad (3)$$

solve (3) for m , so we find n -times of roots m_i

Then

$$y_{c.f} = c_1 e^{m_1 x} + c_2 e^{m_2 x} + \dots + c_n e^{m_n x}$$

ex1

$$3y'' + 6y' - 9y = 0$$

$$y'' + 2y' - 3y = 0$$

$$m^2 + 2m - 3 = 0 \Rightarrow (m-1)(m+3) = 0$$

$$\therefore m_1 = 1, \quad m_2 = -3$$

$$y_{c.f} = c_1 e^{1 \cdot x} + c_2 e^{-3x}$$

ex² solve

$$y'' - 2y' - 5y + 6y = 0$$

$$m^3 - 2m^2 - 5m + 6 = 0$$

$$(m-1)(m^2 - m - 6) = 0$$

$$(m-1)(m+2)(m-3) = 0$$

$$m_1 = 1$$

$$m_2 = -2$$

$$m_3 = 3$$

∴

$$y_{c.f} = c_1 e^x + c_2 e^{-2x} + c_3 e^{3x}$$

Factors of 6



$$(\pm 1, \pm 2, \pm 3, \pm 6)$$

Since 1 is O.K.

satisfies the eq.

⇒ (m-1) factor

$$m^2 - m - 6$$

$$\begin{array}{r} m-1 \overline{) m^3 - 2m^2 - 5m + 6} \\ \underline{m^3 - m^2} \\ -m^2 - 5m + 6 \end{array}$$

$$-m^2 - 5m + 6$$

$$-m^2 + m$$

$$-6m + 6$$

$$-6m + 6$$

$$\underline{} \\ 0 \quad 0$$

note

There are Three case of Root for eq (3) A.E.

I) different Real Roots (see ex1 & ex2)

II) Repeated real Roots (see ex3 & ex4, ex5)

III) Complex Roots (conjugate as usual)
see ex 6

ex 3 $y'' + 2y' + y = 0$

repeated two time

$$m^2 + 2m + 1 = 0 \Rightarrow m_1 = m_2 = -1$$

$$y_{c.p} = (c_1 + xc_2)e^{-x} = c_1 e^{-x} + xc_2 e^{-x}$$

if m is repeated n -times Root (m is a root of A.E.)

$$y_{c.p} = [c_1 + xc_2 + x^2 c_3 + \dots + x^{n-1} c_n] e^{mx}$$

ex 4 $y'''' + 4y''' + 6y'' + 4y' + y = 0$

$$m^4 + 4m^3 + 6m^2 + 4m + 1 = 0$$

$$m_1 = m_2 = m_3 = m_4 = -1$$

H.W.

$$y_{c.p} = [c_1 + xc_2 + x^2 c_3 + x^3 c_4] e^{-x}$$

ex 5 $y''' - 3y'' + 4y = 0$

$$m^3 - 3m^2 + 4 = 0 \Rightarrow m_1 = -1$$

$$m_2 = m_3 = 2$$

$$y_{c.p} = c_1 e^{-x} + [c_2 + xc_3] e^{2x}$$

ex 6 Case III

if A.E-3 has complex root $z = a + ib$

Then

$$y_{c.f} = e^{ax} [A \cos bx + B \sin bx]$$

ex 6

sol. $y'' + 2y' + 2y = 0$

$$m_{1,2} = \frac{-2 \pm \sqrt{4-8}}{2} = -1 \pm \sqrt{-1} = -1 \pm i$$

$a = -1$
 $b = 1$

$$y_{c.f} = e^{ax} [A \cos bx + B \sin bx]$$

$$y_{c.f} = e^{-x} [A \cos x + B \sin x]$$

□

How to find $y_{p.I}$

For =

if The R.H.S of (1) is one of The

Function e^{rx} or $\sin bx$ (or other Trig.) or

polynomial we will use The following

Table

80

$f(x)$	Cases of Root AE.	$\chi_{P.I}$
e^{rx}	r is not root of AE.	$A e^{rx}$
	r is single root of AE.	$A x e^{rx}$
	r is root of order "n" for AE.	$A x^n e^{rx}$

$\sin Kx$	K is not root of AE	$A \cos Kx + B \sin Kx$
or	K is single root of AE	$x (A \cos Kx + B \sin Kx)$
$\cos Kx$	K is root of order "n"	$x^n (A \cos Kx + B \sin Kx)$

$P_m(x)$	0 is not root of AE	$\bar{P}_m(x)$
	0 is a single Root of AE	$\bar{P}_{m+1}(x)$
	0 is root of order "n" for AE.	$\bar{P}_{m+n}(x)$

note

by $P_m(x)$ we mean polynomial of order m

$$a x^m + b x^{m-1} + c x^{m-2} + \dots + 2x + a_0 = 0$$

by $\bar{P}_m(x)$ we mean polynomial other than $P_m(x)$ s.t.

$$A x^m + B x^{m-1} + C x^{m-2} + \dots + 2x + A_0 = 0$$

ex1 find $y_{p.I}$ for $y'' + 2y' + y = 4e^{3x}$ — (c)

by ans guess $y_{c.f} = (c_1 + x c_2) e^{3x}$

$$y_{p.I} = A e^{3x}$$

$$y' = 3A e^{3x}$$

$$y'' = 9A e^{3x}$$

} in (c)

$$9A e^{3x} + 6A e^{3x} + A e^{3x} = 4 e^{3x}$$

$$16A = 4 \Rightarrow A = \frac{1}{4}$$

$$\therefore y_{p.I} = \frac{1}{4} e^{3x}$$

ex2 $y'' - 3y' + 2y = e^{2x}$ — (c)

$$A.E: m^2 - 3m + 2 = 0 \Rightarrow m_1 = 1 \quad m_2 = 2$$

$$y_{c.f} = c_1 e^x + c_2 e^{2x}$$

$$y_{p.I} = A x e^{2x} \quad (r \text{ is single root of A.E.})$$

$$y'_{p.I} = 2A x e^{2x} + A e^{2x}$$

$$y''_{p.I} = 4A x e^{2x} + 2A e^{2x} + 2A e^{2x}$$

⋮

$$A e^{2x} = e^{2x} \Rightarrow A = 1$$

$$\therefore y_{p.I} = x e^{2x} \Rightarrow G.S. = c_1 e^x + (c_2 + x) e^{2x}$$

ex 3 $y'' + 3y' + 2y = 8 \sin 2x$ — (1)

A.E. $m^2 + 3m + 2 = 0 \Rightarrow m_1 = -1 \quad m_2 = -2$

$$y_{c.f} = C_1 e^{-x} + C_2 e^{-2x}$$

$$y_{p.I} = A \cos 2x + B \sin 2x$$

$$y'_{p.I} = -2A \sin 2x + 2B \cos 2x$$

$$y''_{p.I} = -4A \cos 2x - 4B \sin 2x$$

in (1)

$$\begin{aligned} -4A \cos 2x - 4B \sin 2x + 6A \sin 2x + 6B \cos 2x + 2A \cos 2x \\ + 2B \sin 2x = 8 \sin 2x \\ = 8 \sin 2x \end{aligned}$$

$$-4A + 6B + 2A = 0 \quad (\cos 2x \text{ cancelled})$$

$$-4B - 6A + 2B = 8 \quad (\sin 2x \text{ cancelled})$$

$$B = -\frac{2}{5}, \quad A = -\frac{6}{5}$$

$$\therefore y_{p.I} = -\frac{6}{5} \cos 2x - \frac{2}{5} \sin 2x$$

note

$$\text{i.f } L(x) = L_1(x) + L_2(x)$$

$$\text{Then } y_{p.I} = y_{p.I}(L_1) + y_{p.I}(L_2) \quad \text{as in Table P 83}$$

H.W.s

$$1 - y'' + 3y' + 2y = \sin 2x + e^x$$

$$2 - y'' + 3y' + 2y = \cos x + \sin 3x$$

$$3 - y'' - y' = -8x + 3 \quad (0 \text{ is root of A.E.})$$

$$4 - y'' - y = e^x + x^2$$

$$5 - y'' - y' - 6y = e^{-x} + 7 \cos x$$

$$6 - y'' - 5y' = x + \cos 5x$$

next lecture is

Laplace Transformations